



Tên: _____

Ngày tháng: _____ Điểm: _____

$$\left(\frac{1}{3} + \frac{1}{6}\right)^2 - \frac{1}{2}\left(\frac{1}{3} - \left(\frac{1}{2}\right)^2\right) =$$

$$\left(\frac{3}{5} - \frac{3}{5}\right)^2 + \frac{3}{2}\left(\frac{1}{3} - \left(\frac{1}{2}\right)^2\right) =$$

$$\left(5 + \frac{1}{5}\right)^2 - \frac{1}{2} \times 5^2 + \frac{1}{2} =$$

$$\left(3 - \frac{1}{2}\right)^2 - \frac{3}{5} + \frac{1}{3} \times 4^2 =$$

$$\left(\frac{3}{5} + \frac{3}{5}\right)^2 + \frac{1}{3}\left(\frac{1}{2} - \frac{1}{2}\right) =$$

$$\left(5 + \frac{1}{3}\right)^2 - \frac{3}{5} + 5^2 - \frac{1}{5} =$$

$$\left(\frac{1}{6} - \frac{1}{2}\right)^2 - \frac{3}{2}\left(\frac{3}{5} + \left(\frac{3}{5}\right)^2\right) =$$

$$\left(\left(\frac{1}{4}\right)^2 + \frac{2}{3}\right) \times \frac{1}{5} - \left(\frac{1}{5} + \frac{3}{5}\right)^2 =$$

$$\left(4 - \frac{1}{3}\right)^2 + \frac{1}{2} + 3^2 \times \frac{1}{2} =$$

$$\left(\frac{2}{3} - \frac{2}{5}\right)^2 + \frac{1}{2}\left(\frac{1}{6} - \left(\frac{1}{6}\right)^2\right) =$$



Tên: _____

Ngày tháng: _____ Điểm: _____

$$\left(\frac{1}{3} + \frac{1}{6}\right)^2 - \frac{1}{2}\left(\frac{1}{3} - \left(\frac{1}{2}\right)^2\right) = \frac{5}{24}$$

$$\left(\frac{3}{5} - \frac{3}{5}\right)^2 + \frac{3}{2}\left(\frac{1}{3} - \left(\frac{1}{2}\right)^2\right) = \frac{1}{8}$$

$$\left(5 + \frac{1}{5}\right)^2 - \frac{1}{2} \times 5^2 + \frac{1}{2} = \frac{376}{25} = 15\frac{1}{25}$$

$$\left(3 - \frac{1}{2}\right)^2 - \frac{3}{5} + \frac{1}{3} \times 4^2 = \frac{659}{60} = 10\frac{59}{60}$$

$$\left(\frac{3}{5} + \frac{3}{5}\right)^2 + \frac{1}{3}\left(\frac{1}{2} - \frac{1}{2}\right) = \frac{36}{25} = 1\frac{11}{25}$$

$$\left(5 + \frac{1}{3}\right)^2 - \frac{3}{5} + 5^2 - \frac{1}{5} = \frac{2369}{45} = 52\frac{29}{45}$$

$$\left(\frac{1}{6} - \frac{1}{2}\right)^2 - \frac{3}{2}\left(\frac{3}{5} + \left(\frac{3}{5}\right)^2\right) = \left(-\frac{299}{225}\right) = \left(-1\frac{74}{225}\right)$$

$$\left(\left(\frac{1}{4}\right)^2 + \frac{2}{3}\right) \times \frac{1}{5} - \left(\frac{1}{5} + \frac{3}{5}\right)^2 = \left(-\frac{593}{1200}\right)$$

$$\left(4 - \frac{1}{3}\right)^2 + \frac{1}{2} + 3^2 \times \frac{1}{2} = \frac{166}{9} = 18\frac{4}{9}$$

$$\left(\frac{2}{3} - \frac{2}{5}\right)^2 + \frac{1}{2}\left(\frac{1}{6} - \left(\frac{1}{6}\right)^2\right) = \frac{253}{1800}$$